R\BIE £ K% 2023 Hislh

L L
[ N9 DFEIZ 77, F1 K2 v U e LIz Lt
Al (=10%) HEcn,

. = 5
13 x 1770 5—?3&&19 30 Palz £ 95 G
(=] ¢
q_ /4/ 79
5 i : L
Ao oL ~l'Cact | 7o kbR Adzy &<
£ B ', = 79 %4 m%’;]ﬁb"i‘:’% FHEAF v Gh S,
oy AR ;'f?%?ﬁr;jﬁimvg it ) —}/;V\ )
02
*I46°36 © 20 %0 o
Bh () Che— chs 4 CHe— ¢Hs Che- ch- cH;
o M X B x (27 o CHs
. {f@ﬁéh‘?h:’hﬂﬁ)
IN3E Rt e BT
¥ i [ 1.4 iy 2
lsto Wha ol =<ly X = p xP3[xi0 x 303
CA -]
i V= 4926 L
3e7C
Y
P:\; X s )+ EHz(;) = CD(Hj a4
+ 3‘]\4)[ + %x??g = Q S
@ = 394x + 143y -4
{
K14 NH: + %02 = '31\'2(3] 3 ’:,—2}-(1002) + Q
._.4L o} = 5 __25,‘7(3;_ + 0

Q = 429-46 =382

M5 Ay ra RN A ELSATLdn §T
NO Y NHp A7 [: | T RI-F3¢X 2,

NO+ NH? + & 02 - N, +bHao

I'{"?Q=B =.’i a:l.
{ 3 =2b et 4

4NO+ 4NHz+ 0, — 4WNa2+ &H:O



2 T
Ml RorRicu kbRA o KalReak] AtTizardo)mnyig

Y 2 {2, - CMH 1 re

HiS04 +4H +26 = £0, +2h.0

Ou + 2H2504 — (w$04 + ZH20+ 50, S0a + Hao 2 H:So3

B2 oo B e Bars w ... BIETr GRt9a EBRE o2pldsis

A =
iy ... KBS A BY e BE ANk a3/ 0% AN &k 1
P14 3 Mo0: + S5C — 4co + ICor +#3M
. ln 4 4 \
Cope 224 ~iv T 22.§ el Coz I3 22.4 LS
g ! [ i 1841 Py
2E Mg o g el s Joaxibe2 = ot - o =x-£287 = -4 f,j)
fgsd3

My X2 Nazlos 13 Naz (o2 [okeD Z B Naz (o

o) feB8 TLY L YK AdD S AN



TEfis £ 44
MW7 Aot N ... B HEEtLren

AT S DAVL AT S S YT 1
G$EY 7o, 75K .. HE
Al E | .. (e )
B oo Cizfidzng ..cz0v D ARTI. 7708k %
E.... BRI ... +40--6
Bl o ov08
flz 1wl Tel-nf Fic..

-EC‘I—:,— CH- Che- (H) = -ECI-I.- CH— Chu- CH}
OH oM 6 o)

e
CH,
(82») Ctag)
va-89 3 3 a3iz lof § '
.00 = NS T 0o k,t? —QE‘IDO % (0o = = =4.9113th ()
oo
7 3 Ca(oR)2 + €Nlr — [CA(NH})‘] + 20H
.y
F14 ol 1% =14 Jox -—Llﬁ M= 12120
0.
[ H
HoN - CHe - CHp- CHp - CHz = GHan (oo Kl H\/H
[ H (Gw= ¢=-C=0o
e/ I
,C
w H \’c_c—_u...n
H '!‘ JAN

E-hTo777L



11
Rz
i3

4

15

R W 3

Lo fxtox i« 300 = 32 “ 830 <300 2 =07778...
r 7 3

Lotxin = 7= = 3.4 xl0 P

PV
k) —R? —érﬂ\\—z

Lo ¥ 2o 3 l l*lr 1£.7 s
O x[d x7 - % 0. 300 .Q 0 x7 o ¥ O30 -€

l:n - ;c =4',°[Km th
§31x10°%3 00 S3[x1p 230

CiaH2:0u + 1202 — |2¢02 + Il H20

(CLH(QOr)% + {n 02 — €n CDz + fnH:0

e ] (.12
[E A w3 ] 27

£ %3 12
‘i—‘X:'—\- x:l

-

& -
2 32 3o e 94 =10 (g,

= 178 x |D-' (5)



